EXAM #2 ANSWER KEY Spring 2014
1) Std. dev .0 to ∞; corr. 1- to +1, inclusive; z-score any value; probability 0 to 1, inclusive
2) B
3)True
4) differs so two-tailed: C.V.  ± 2.33 and z formula (large sample)
5) B
6) B
7) A
8) B

9) mean = 55.86 candies; s.d. = .23 candies
10) probability = .97
11A) D
11B) B
11C) B
12) 99% C.I. =  61.0325 oz. ± 1.0608 oz.  OR (59.97 oz., 62.09 oz.)
.

13) Box plot & stats.
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IQR: 16 sec.
L.L: 89 sec.

U.L: 153 sec. 

Adj. Pts: 109, 133
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14. Correlation
A) scatter plot
B) Hypotheses

H0 : = 0   There is no relationship between the first 5K time and the second 5K time.
H1 : ≠ 0   There is a relationship between the first 5K time and the second 5K time.

C) r = .779
D) regression formula: y-hat = 8.717 + .678x
     estimate of second 5K time: 20.24 minutes
E) false
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HYPOTHESIS TESTS:

Question #1 deleted.  Students moved to following two problems
Question #2: Toxic Mushrooms 
fix to t-test sp11
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The safe level of cadmium in Boletus mushrooms is .5ppm    CLAIM
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The level of cadmium in Boletus mushrooms exceeds .5 ppm

Given: 
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x

= .53 ppm           = .5 ppm          s = .37 ppm          

n = 12           = .05
Right-tailed test
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 = .2808 (Test Stat.)
Critical Value = 1.796
Conclusion: Fail to reject.  At the  = .05 significance level the data do not provide sufficient evidence to conclude that the mean cadmium level in Boletus pinicola mushrooms is greater than the government recommended limit of .5 ppm.


Question #3: Acid Rain sp11
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Lake is acidic if value is 
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Lake is non-acidic if value is > 6.    CLAIM

Given: 
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x

= 6.6           = 6          s = .672          

n = 15           = .05
Right-tailed test
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 = 3.45 (Test Stat.)
Critical Value = 1.761 

Conclusion: Reject null.  There is insufficient evidence at the  = .10 level to conclude that lakes in the Southern Alps are non-acidic.
Reject H0
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